


L

sk Los i
-_,D/u”/miu%@C‘uz;gT/é%':,gr“/,vJG/{/:‘;K/”U‘/”C‘)LT/y‘@i/(gjjlﬁu.‘fﬂéw,p
B N N B P STt gyl e
m/&/&/‘}G&:j! o’//lg?u] 5/1;1&1};‘//!).(:‘“ ’,? 05
No. SELD/CA/CW/396/2021: 7 -1 »
Fif

S
kel o

Y4 7)) %
S 20 Ty

N s Qe bon

,;,{cp,w%;;ﬁ;/:f,/’ % @ S
e e
. 521"}’_.}/‘(}(!5 N
SN
ul&&»@f/.‘})/? A
yErod

Jh
Sl i B
s e ,CVJ#)!/.//}/ ¢
el
A 5 S s
SIIG kL ~}!/'//; J‘_,D‘Tj/ A
flub’l://"/ PA ¢

s

Za

STl 14
Gl eslsn bty

2024 :JLK=s B

AT BN uxy Zfl




fkédﬂ‘@' U':U)”: Lf’?}j};!&ﬂ?g :Lf' 71 J" (3' d/lﬂf b%y(%:f%,ud/w;;@wﬁ/z.{ s

N8 Lot t$T et S S92 £ §1 1 S a6 I WS LS oo 5o ) e
-c‘.l,/'/ J,?u:‘ lf'"ué uJ.:,yu/; 'Z_J}g Gl

30 FE Ut S L IX U Ly e s L il T U1
Pl Leslayrs (F30 < 17) U f 143 At SES S 16 e

~u) @J?C@Lﬁu’ 'b(

S ml%wf Kﬂu’]'fd"' AT ot Bl Pl D w Vg |L5)£4&’?¢P)i.)@£)},w&i
,,{v/ /{:L@Jﬂﬁd}q@cﬁ@g)]»@&n ' l&' é

,JbJ LSS - tE s b il
a2 ot il u;léf.d ﬂf&'ﬁfyilé

o E
B) ”Lf‘jufugﬁfﬂgwﬁ“




01-35

36 -56

57-82

83-113

114 - 126

127 -174

175 - 181

182 -193

194 - 207

208 - 222

223 -231

232 -241

242 - 264

265 - 294

295 -312

J‘WJ}'J
al/:?’
3}/)!._/’5'
c/}.’.&yl)l/‘fu)»
/r’/df/'.'
:/Ejlr:’d).l:’*
a,/l;':/)l:,;vj
!
JwWLl e
J}Alh

VTS PRI
il -dk}f&’f
JJG’.K:«L/':”‘

=\

18 <4
1944
20 244
214
22244
23244
24244
25244
2644
2744
28 244
29 LY

302y




J' li"/)l..bg

SETS AND FUNCTIONS
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:(Operations on Sets) J’f{.uk 17.1
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z ={0,+1,42,43,..) @ |
B ={0,42,44,46,..) s
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Q' ={x|x¢£where @ QVK}MIJJ’L’}
q
R ={x|x=p ,qu/\q;tO} Lol
q
-wéaﬁRulQ', Q, P, O, Ez Z, W, N(qu;f-/é%)/’)’ :J.'aj
J,?L//;w}/éré;lﬁldf?d)nla«i?iﬁg R »# R <
_%Cﬁlguﬁuf‘ﬂf&w:if.:gi;m&”m‘}”tj‘J"L' <
s OW representation of sets) l://‘-lg;(u;.‘."ﬂlrl,jl Ju;r 17.1 (ii)
MR L LE S o er & Ses i S forfidiae o
& sy U $F A2
Fibirfs-3 FGus -2 Fool-1

_‘grtggfucc,yr‘}f;}uﬁug/‘(u/(ut/)umLquﬁdﬁgg

A= er €31t $08 e s L1095 8

f&ré&;}/v)lgjj“g/(ﬂwuf(Burses) /“/./(ul/)ugjlé.agutﬁ&w!
A={6,7.89} urzf Uyt F G

_ujf./'//;lﬁc;bc JQL&/&?!“;J]}'J(U!/)UKAu'ﬁyjt/&{fz‘/“f_,%
A={x|xe NA5<x<10} ‘aﬁclgu‘)/uguﬁij:{(f]A @:ég)




:(Equal Sets) (il
Un &L UL S ) Uk £ B sIA APy
A=B iy yy b G w
B A #ASB s A=B 2

. BoA#sl ADB s A=B 4

C= ool L6 sB={x|xe Nax<6} A={1,2,3,6 S 7} &
A#B X A
a2 Al L nA) L OA) —e b 6P (U Db LAsy 1N

(Equiv w e

_n/,ul,u?uf(ul/)uméutﬁug“;‘ y A Zo 9
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O(A)=0B) $f eI A~B G 4
-q-Gﬁng(’t?g@uw('—')uy/,L ;
er sl 2l F e B=5

G A~BLbu
X =64f g S PS>
WN="0(B)=2 £/ A~B Ulx
:(Proper Subset)&«{(}{_le;

KW er§ ANV 5 KB er A eSS
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={2,4,6,8} s A={2,4,6} Jj [
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A¥BerAir) ¢ er§ ¥BerALr g SJ)
2+ 9B = J/uf%é@fdﬁfd'//{(l/)! A={a,b,c} e
' A=B "
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(i) B=orbiw i Fe 11
(i) C={x|xePAS<x<13}
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(iv) D={y|ye(0)/\7<y<17} \
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() A= rbeldbiel ol nl6ss (ii) B={1,2,3,4,6,12}
(iii) C ={0,£1,%2,...,440}  (iv) D={-4,-2,0,2,4}
(v) E={1,4,9,16,25} (vi) F={-1,-3,-5,-7,..
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(1) P={a,e,i,0,u}
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:(Operations on sets)J}1# ;2 17.1 (iii)
(Intersection) 2 < (Union)(Z HJUI1 <
(Complement) .",.»é{f < (Difference) J/ <

PR

(Union of two sets) (u’;}’)JLaJIKU}’W))
le Y X iu‘ld./Jl/uKAuu"gfat'blf/U::.XuYJLJ!K Y 1 X uru‘

aZ

XuY={x|xe XV xg

|)6X/\xe Y} u’.{

XNY={2,6} Y= ={2,4,6,8 1 .
e f two sets ) J/ b/u;f’»
Lo LI X~ yJ}J‘nyJ})&f
(_t‘//w‘f{L x/y /Jlu"é/
/ﬁwé/ubf‘ X 2L st 6 s
Y-X={y|ye Yrye X} <&

:Bﬁ‘

Y={2,4,68) L X={468910}

Y-X={2} i X-Y ={9,10} J

(Complement of aset) Lok Ko

s CY s ZU Jaww..fl Lokt KA }’LJU{KU Jdl/(b)ﬂ.fl/
_‘ngﬁwcwg A - A 2

Ve X-YOU B Y-X =
UjL/ﬁw(ﬁ/c x/y 'Y i

A=U-A U
A'={x|xe Unxe A} &
g

A'={2,4,6,..20} § A={135..19} » U={1,2,3,.,20} |
( Symmetric difference of two sets) (3} gﬁ» KU 17.1 (iv)
Uinze btnl Lkl ZBLA Lutl S e AMB S5 FEL BaiAUs »
_u*a_ru’(f/u"ur’
AAB={x|xe AUBAx¢ ANB}
AAB=(AUB)-(ANB)




AAB ={2,47} § B={13,57} . A={12345 S

u S LU e gt Y 2170 Gi) o

:(Disjoint Sets) s 2512 J3

ANB=0 oSS SN er L812h B sl Al s
ersin s B={2,4,6) s A={135} A

:(Over lapping Sets)
d/u"u!uﬂﬁéu’!/_f/gf/Jlﬂl[u‘u;’»/u’LMJu@/»! ‘
u‘iuﬁ“u.cw‘/»l B sl Ay _LL/ 4

BgA L AgB J
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L ) AUB=U
rer s EIB s A Y U={123,45 2012340 G e
AUB=U £y
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u’)”oﬁ/ﬁujz_ﬂzfdf B sl A JJ//:’)’JE/» B .l AJ/’/
C_JJWJ/('/)’w(f/w’i
b/Z:UB/)iA/’/u*d_MJ/ B s A

31 B{246810}A{13579} //| 352

AUB=U ./ AnB=

LS BHIAET U=

-u*iz.;z’_uyb ﬂfu"”;mfaiw

(Identlty Laws) (/56 Ku“":;d'
LA vgu/

(1) AN A (i) AuU=U (i) AnU=A (iv) AN = )
:(Idempotent Laws) ¢/96 6 ££507
LLAcry

(i) AUA=A (i) ANA=A

:(Laws of Complement) b Leonk

LLAcrys
(i) AUA' =U (i) ANA =0

(i) (A)=A . )
(De Morgan’s Laws) uil?é:d(/y‘ s
..‘;{»(}:’/A 23] Bé L

(i) (AUB)=A'NB (i) (ANB)=A"UB




(i)
(iv)
(1)
v)
(ix)

(1)
(iif)

172 &
uﬂjﬁ:’fh:)ﬁ oLl sl c&lﬁuﬁ’&{cu:’/cuﬁdjgjﬂ 1.

k4

{4,6,8,9,10} s {1,23,57} (i)
{1,2,4,8} Ly {1,2,3,6} (i)
U=Z S—> O » E (i
U=WJS 2 B=N »/A={0,24,.} (iv)
U=R ,J/».) Qx4Q (V)
(S B={2,4,6,810} s A={1,2,3,456) [ 2

AUB (i BNA (i) A-B
B-A v)  AAB

(ST B={1,3,57,9) 51 A={1,2,3,4,5} U=(1,2,3,..,10} [I 3.
A’ (i) B (i) A UB (v) A'NB
(AUB) (vi) (ANB) (vii) A'AB’ (viii) (AAB)
A-B (x) A'-B

2l P={p|pe E/\—4<p<6} ,U={x|xe Z/\—4<x<6} /‘7[ 4.
,J/Qf/'/:f.lf'? Q={qlqe Prg<6}
P-Q=PnQ (i1) Q-P=QnP
(PUQ) =P NQ (iv) (PNQ)=PuQ
Q/r)l”; C={4n|ne N} ] B={3n|ne N}Q A={2n|ne N} /ﬁ 5.
ANB @i AuC @iii)) BNC

ion and Intersection) elos? § &6 51 JUI 17.1.2(1)
a/J/K&yW d)&%i5;/ﬂu(g@/5ﬂdw!/vu;fu:@}}
(Commutative Property of Union)J}l/Ml&J(df{)d@'! <

LLBuAtrss Suies

La&MJJVMGJJGJ!MGd

s

LHS=AUB . L. . ;

={x|xe Aorxe B} (g‘wévyffu(db”)

={x|xe Borxe A} (G”JJ/%;JU(AU:&{)

B CIYAEPARED

=R.H.S

LH.S=R.H.S

AUB=BUA

’}’Z;’z:b"u:/:

€ F7 JF_ o\




:(Commutative Property of Intersection) Js\» et S 26 <
ANnB=BnA 4").&: B s A &{)}L{J/@?Z_bﬁ

< Qb et Ul

RO

LHS=A B

={x|xe Aandxe B} (G’/JJ/JCLW)
:{x|xeBandxe A} (d;’u’/‘f/;w/d/u%lu"uy)

=BnNA ({_,/J,g/u(d’w)
=R.H.S
LH.S=RH.S
AnNnB=BNnA
l}"bft‘uJ
:(Associative property of upion) yJo <
e F6 4 S i SN 5 TO U5 & 7

AJU’J{U/

&

K24

|Au(BuC) (AuB)UC

LHS=AuBuUC(C)
={x|xe AL xe BUC}

={x|xe AL xe B xe
={x|xe AUB |, xe % JJ/’JJM)
~(AuUB)uC bz AEUs

piative property of intersection)p;ﬁ*wt&&f@ <

Jf‘fi&fd}éfwujbﬁl}c"/iﬁ“c«a‘bu{g@Lﬁgﬂ

|Am(BmC)=(Am B)m C|

N7
S=AnBNC) .

={x|xe A 1 xe BNC} (c”_ud/h.e{/‘)d/g@)

:{x|xeA/}l xe B 2 xe C} .

:{x|xe ANB »l xe C} (LJ/J%/J&@.)

=(AnB)nC (:_,;/Ju..y/jJé@')

=R.H.S

L.H.S= R.H.S
ANn(BNC)=(AnB)nC

!n."a:b"u?



:(Distributive property of union over intersection) éw LL%LJ‘J) e d/JbJ! <

au(u’;ifwwéwu*u/u J"{éwb@u‘“vwlyd/dwwaf

AU(BNC)=(AUB)N(AUC)

iLC/:chAJu*J(

LH.S=AuU(BNC)
={x|xeA L xe BmC}
={x|xe AL (xe B ¢ xeC)|

={x| xe AL xeB) ¢ (xeAL“,xeC)}

{ |xe AUB ¢ xe AUC}
=(AUB)N(AUC)

=R.H.S
LHS=RHS

AU(BNC)=(AUB)N (AU
l/zca:t"gﬁ:

:(Distributive property of inter,

<3¢

AN (A

LHS=A

x| xe BUC}

x A r. (xeB\ixeC)}
x[(xe A ¢ xeB) b (xe A ¢ xeC)}

={x|xe AnB L xe ANC}
=(AnB)U(ANC)

=R.H.S
LHS=RH.S

AN(BUC)=(ANB)U(ANC)

lnca:t"ue:

-._4}:“

(c'_ud/..ég/?d/d@! \

(cutﬁ—é’/?d/@b

(s

%)

10n)JLﬂt£L§LuMDJbJwa <

Qs}s%‘mdwwu’”ww{d’ww&f

“iZ:C/HB AH{JU%J(
e

S ED I
(cud/_éj/.;urdbgi)
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:(De Morgan’s Laws) LB LS i<

Gl 3 LS G S EE syt (V) 171 0 s
QJ.LB s A u;.‘.’uujéié.)é;f}?

(i) (AUB) =A'NPB (i) (ANB)=A"UPB
(D s

(i) (AUB)=A'NB

LHS=(AUB) (crsp F Skl
={x|xeU ¢ x¢ AUB}
={x|xeU ¢ (x¢ A ¢ xg B)]
{

={x|xe A’ ¢ xe B} (e
=A'NB' (
=R.H.S

L.H.S=RH.S

(AUB) =A' "B
!ych.b"gﬂ:

(D s

(oS f Senth

£ X¢ A) " (xe U ¢ x¢ B)}
={A xe A' |, xe B} (L—}Jd/b%)/.;‘;bbf':’:%f)
£A'UB OISl 1e1))

=R.H.S
LHS=RHS

(AmB)’ =A'UB

% g S I8 S U o L s 17.1.2(i)

:(Verify the fundamental properties of given sets) )
Q:/’/Qﬁd/c«yf‘?uﬁ@ﬁcu JU}JL’/"‘J‘)’,.?//WU:T

S et G600 U0 B={4,68,910,12} L A={1,23,4,612} J 1 # &
G/



J;vJuJé’w () JJV&{:‘GJJU"I ()
ANB=BnA U’J AUB=BUA UJ‘J‘
LHS=AnNnB LHS=AUB
=(1,2,3,4,6,12} 1{4,6,8,9,10,12) =(1,2,3,4,6,12} U{4,6,8,9,10,12)
={4,6,12) ={1,2,3,4,6,8,9,10,12} ‘
RHS=BnA RHS=BUA
=(4,6,8,9,10,12}{1,2,3,4,6,12} =(4,6,8,9,10,12} U{1,2,3,4,6,
={4,6,12} ={1,2,3,4,6,8,9,10,12} \
LHS=R.H.S LHS=RH.S
ANB=BnNnA s AuB=Bu
SnJad Snd 4P e 2/JV
S b §CEmJs1 T C={1357.9) 4 B={2NA gfl.2.5.10} /]
UG
07
Juwwu '
AU(BUC)= AuB uC
LH.S —Au BuC = AuB

[12510 {2.3,5,7} ]U{1,3,5,7,9}
{1,2,3,5,7,10yL{1,3,5,7,9}
{1,2,3,5,7,9,10}

{12510} [{2357
={1,2,5,10}U{1,2,
={1,2,3,5,7,9,10}
LHS= R

N

RHS=(ANB)NC
LASEAN(BNC) =[{1,2,5,10}n{2,3,5,7} ]~{1,3,5.7,9}
=(1,2,5,10}n[{2,3,5,7} N{1,3,5,7,9} | ={2,5}n{1, 3 5 7,9)
={1,2,5,10}n{3,5,7} ={5}
-(5)
LHS=RHS

AN(BNC)=(AnB)NC

énQﬁ«fv




U GAT C=(3,69) » B={2,4,6810} .A={1,23,..10} I 3 i

C6 sk et § U1
Joiske” et S 26 ()

e
AU(BNC)=(AUB)n(AUC) (& (’f’wyéuﬁ’uwu&dw '

LHS=AU(BNC)
={1,2,3,.. 10u[2468w}{36%] (:::)
12.3....10} {6}

{
ﬂ23 10}
RH&%AUB)(AUC
=B123 246810]m 2
={1,2,3,..,10}n{1,2,3,.. <i:j)
={1,2,3,.
LHS= RHS
AU(BNC)= AuBm \J
d/d uJ 5
Joisth s e (E8 (L)
An(BuU
LHS=A
710§ [{2.4,6,8,10} U{3,6,9}]
2,3¥.,10}{2,3,4,6,8,9,10}
2,3,4,6,8,9,10}
=(AnB)uU (AmC)
=[{1,2,3,..10§"{2,4,6,8,10} | U[{1,2,3,...,10} n{3,6,9} ]
{2468w}{3@%

={2,3,4,6,8,9,10}
LH.S=R.H.S
AN(BUC)=(ANB)U(ANC)

dn b A



SB35 TB={2,4,6,..,20) st A={1,3,5,..,19) U={1,2,3,...20} [1:4 7 )iz

(ANB) =A'UB (@) (AUB) =A'~B ()
:Jes
(AUB) =A'"B () ‘
LH.S=(AUB)
=U-(AUB) \

={1,2.,3,..,20}-[{1,3.5,..,19} U{2,4,6...,20}
={1,2,3,..,20} -{1,2,3,..., 20}
=

RHS=A'NB

tUA)m(UB)

(1,2,3,..,20}—{1,3,5,...,19
2,4,6,..,20{1,3,5

~2
LHS=RH.S

(AuB)' =A'NnB

SENPEI:

A

(U-B)

[{1,2,3,...20}—{1,3,5,...19} | U[{1,2,3,...,20}—{2,4,6,...,20} |
{2,4,6,..,20} U{1,3,5,...,19}
={1,2,3,...,20}

LHS=RH.S

(ANB) =A"UB’

Sndadm




17305
JSII e et SEE 1L Lor o 1.
Bz{a,e,i,o,u} £ Az{a,b,c,d,e} 1)
Q={y|ye E+/\yS4} ¢ P={x|xe ZA-3<x<3} (i)
Q/QMJ(JWML}J&@/HJQIéé&rd:},?/
C={1,2,5,10} ¢ B={5,10,15,20} .A={1,2,4,5,10,20}

_QB- P (i)

u’i)’égf///d) 4.
B={2,4,6,8)

fer & L UGB siA SIS

CAYE=AU(A AB)
B=AU(A'NB), ifAcB
:(Venn D1agram)(!/dbu} 17.1.3

s A={1,2,3,4,6,12} .U={1,2,3..,12

u’/'/ut‘c;ud/u
(i) AU(AnB)=AN(AUB)
(i) B=(ANB)U(A'NB)

_‘LCClag/;U:uiué . ) LJU/;CUI:JIU‘&@/U‘U/L?J@{J‘&
lfuﬁrté ' iu!)U‘L///(!iu*irl/ﬁdbu’u(d_///lbug/‘)"
b e X U.,»»dwu” PRITZE w,/_;mumsslc,u_u’c_
/-\ ‘)r!//d!)dﬁfu*d//lb/w;ﬂé!dr‘”/ﬂL/l}J/JLt’

e

L}

SA crtuer b e Sy G

II.' ]
@ @ IB A A sredizUine ) 2601 /S (i)




ZA <\ //U: (ljé Ja (iv) ..«C»‘/»U;L /'//U: (’/d’)dﬁ (iii)

o

BCA/B ‘f /B/;!AJ

- - —

o

|L
g (O]
(Use Venn Diagram to represent)J/ le*’i W duwi i /S /Lb/ J}:/ Q
:(Union and Intersection of sets ) (‘f G oIl Ugs

:(Complement of a set)s" V.WJ
:(Symmetric difference of two sets)s AL

(Unlon and Intersectlon of sg )Y 3’ u?:’u <
z‘fgn L:’J'lﬁu;.‘f;.}
)5 | ../L/l),.zl/(i)f

D b ulAur’uf_»
B 3k /L/U,/(/(ll) JL

AUB
l @ |
B
HF
<(2.4,6.8) s A={1,2,345,U={1,23..,10} S :1~J&
J//Ua(lfdl;d};’uv/
,vguﬁf H(DF AUB .,um;,wuf u“(Jn)J4
= /Kb ab"//U:
et :,(1/ driess I et z.ﬂ/ e
! AUB={1,2,3,4,5,6,8}

ANnB AUB




A :(Complement of a set)u»’uh/..f! <

U /lb:’/.alkﬁwdbb/ TEA e K "!/dl)u’;
Stk L/!),./VUJ(I) Jé /LlliéAJ;!r‘gt‘/
-‘LL/(/:U: :(A'
() f
AV
U A
5 i
[ )
(i
AAB

LSt 6 ey
\ e eSS AR et Ly

(iw _Q://zu;rl/ﬁéifqﬁ,aj/]y@ /GIJC"
B . B={a,b,c} il A={a,c,e}(U={a,b,c,d,e,f}ﬁ

Q/ﬁwﬂ/&jw,g/),/AAB J.F
e ﬁlﬁ‘jg Lo b a(Gid) f&ﬂf&ﬁ@f&,;?_v

AAB={a,e} -‘Lt‘//zlﬁ/AAB




:(Use Venn diagram to verify) Q/Qﬁrl/dljd;;y,@ 17.1.3(ii)
:(Commutative property of union and intersection ) ,J;L/.:/fl}d/ d’ @alJ <
:( Associative laws) r)]}rufp} <

:(Distributive laws) (f:}d:i;" < ‘

:(De Morgan’s laws)dfliégf/rdf <

:(Commutative property of union and intersection )JJV&:‘L}J{)}@
_Q:/Qﬁrl/ﬁb"u:;,g{/@cu u’uﬂb‘»gij;yqué@m (T

S G IS 2oi e b SEE B=(4,6,8) 1 A={1,2.345%)

AUB=B UA s £6 E Tt
BUA %UB
B A A B

g

vV OF

EEONAINTES
AUB={1,234568
* (1) Jﬁfl,;«?w/,u,u&uLuwiﬁwufzgm,v

AUB=B UA
AmB=BmAJ)yoc‘l}d/ @ :(ii)dt’?v
ANnB

A 1

g

(i) M F
=G Fdp /e EEOWA VAL SS
BAA={4,6) ANB={4,6 )
VWG 1) B e Gt S otont Sbe s e
dudsds ANB=BNA

-




AN(BNC)=(ANB)NC iy ZJor iy,
RHS=(ANB)nC LHS=AN(BNC)

(5
D

g J’ﬁw =G S /i
£16} An(BNC)={6}

wég\é/)u*(lv)f’/:l(u) fflr?u‘l/l/ugjéuuﬂLU&u[ bbb
AN(BNC)=(AnB)NC

Sr s A
:(Distributive Laws) (JLL“u.f‘ﬂ;" <
-w@d&d;myﬂdégﬁzﬁd}muﬁlfruféuﬁq;,gu
A={1,2,3,4,56) JSIAS LI LEE ST S
C={2,4,6,8} £ B={3,4,5,6,7}



:Jey

:(Distributive law of union over intersection) rjl}z"uit" d:@b @ (i)
AU(BNC)=(AUB)n(AUC)
RH.S=(AUB)N(AUC) LHS=AU(BNC)
AUB BNC

A H

®S

o

(i) F
= W F S i <= (iD) F S /By
(AUB)N(AUC)={1,2,3,4,5,6} AU(BNC)={1,2,3,4,5,6}

U5 () S i) B Szt 6 St et sl 2
AU(BNC)=(AUB)N(AULC) &
&}’ZQ,«/"]



:(Associative Laws) (el ld <

o AL LETFB ST o $ieps o
Q/QﬁJrM’ufl}Ld’@uU@l?C={5,6,7,8}m B={6,8,10} . A={1,2,3,4,5,6} [ )&
AU(BUC)=(AUB)UC Gtk LJiL

RHS=(AUB)UC LHS=AU(BUC)
BuC ‘ )
R

B B
(iv)af’ » i
= (i) Fdp Sl S ON AR
(AUB)UC={1,2,3,4,5,6,7,8,10} AU(BUC)={1,2,3,4,5,6,7,8,10}
ujiZLlA/;ui‘ (ii)gfj s (i)Jﬁ S lf:.‘.’u?/.l/.u%léumleu:‘i Ll
AU(BUC)=(AUB)UC
$nud



:(De Morgan’s Laws) ufi:."iufuﬂfﬁ’ <
u:/&fﬁrl/dlﬁd}dz@(fufi}d:cfci‘dﬁc‘_)x JJC’J}';JW‘J:/T
q/&jﬁrtf&sqwgzjggfuﬁ}ziu/ﬂrds:d@
B={2,4,6,8,10} s A={1,2,3,4,5,6} .U={1,2,3,...10} ]

(AUB) =A' B (Dt

RHS=A B’ LHS=(AUB)
AI
U B u

=0

Giii) f
B
| Qg%
(w)
/ (AUB)
) J@ (11)
A'NB'={7,9} (AUB) ={7,9}

P>

E s (V) Jﬁ‘/;i(ii) ﬁf?%u?/,!/,ugﬂémewwf Lo
(AUB) =A'NB

&n&fﬁ

00



:Jey

Distributive law of intersection over union uﬁfﬁ U: f ’3‘ (ii;
AN(BUC)=(ANB)U(ANC)
RHS=(ANB)U(ANC) LHS=AN(BUC) ‘

>SS e T
W F GF
Q(bv)dﬁgfru@;q, (i) J’(zu(ﬂ/dbw
(ANB)U(ANC)={2,3,4,5,6} AN(BUC)={2,3,4,5,6}

IS Jﬁﬂ'(ii)d{’fb:?u://.'/.uwLuunﬁw‘jﬁ (o
AN(BuC)=(AnB)U(ANC) &

szﬁ



(ANB) = A" UB' (i) 1

RHS— A’ OB LHS=(ANB)
: ANB
v 1 A : B Q‘
7 9 D
Gi) F* N
B
v A B o
() F* ,
A'UB A (ANB)
U A B U A B
T
Q@f (i) J
?. T (W) FY ('j J'ﬁw S ZGi) F ruf Jlﬁ@
A'UB' ={1,3,5,7,8,9,10} (AnB) =1,3,5,7,8,9,10}

AW PG FF S g a6 S St Lo -

(ANB) =A"UB' _#

én[}.’.ﬁ

-
¢
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AABANBAUB JrerF LUne (/BaAS -1
Ji ke 1/ 3i5ers £ A-B s
_gwuigBJAJ (iii) uyu*’urcj/”’BJ)’A(ll) u?w..miu’;BmA )
A ST 48D et b S E Mo S S si \
B={a,e,i,o,u} £ A={a,b,c,d,e} 1)
Q={2,4,6,8,10} ¢ P={1,2,3,..,10} (i) >
S u/&ﬁu/u*'tiéuirdsﬂf Sisersaik 3.
U={1,2,3,..,10} .s B={5,6,7,8}.A={1,3,5,7,9} [
A J/JMJJJ u‘u’mpwu’ l:’rl/ RIOZEDIES
C={5,7,9,11} s/ B={4,6,7,8,9,10} A {123, w8} S
w JKJ}’é—J}?v/ 17.1.4
IJges’ L/u"J!/u/’JibJ‘/K

:(Ordered pairs and Cartesian produ

g /LU’/U‘ML//’/Q/‘YJ/“‘»-LL"M/;LJ/A/»bm/’
< /12(9,y —6)1I(x+5,8) J /J/r)afJJy MES

(9.y-6)=(x+58) ¥ W
= 9=x+5 = y—6=8
= 9-5=x = y=8+4+6
x=4 | y=14

Jasdes Aed S v x1y)
:(To form Cartesian products) w‘b‘,/‘)"lﬂj* J617.1.4 (ii)
/,:(a,b)(—j}?b.;/““'w}?-%&t?Jﬁwa—u’.’/ﬁwbu‘&:/(LBJA Juperdi /:;))B/}’A /ﬁ
beBulae AUy ujz_ﬂy
Ax B:{(a,b)|ae Al be B} <

<3l L Puic AL buE K ASBL ST
BxA:{(b,a)|be B s ae A}



Q={5.10} s P={1,2,4} [ (L i
PxQ={(15),(110),(2,5).(2.10),(4,5).(4.10)}
QxP={(5.1),(5.2).(5.4).(10.1),(10,2),(10,4)} !

Sl B 1S A S AB () e
O(AxB)=mn jO(B)=n .1 O(A)=m J (ii) ‘
AxB=BxA 470 (iii)

: (Binary Relation
U =354 (Range)»J.s(Domain) 51 3o L (5Tl )/,
: (Binary REI{ti

Kb 0EBe AR SIWAKB A0 KTt

6: a,b,c} S :Je

Ablus  (a)

£ Bhiugt  (b)
CBELGEL (O
S Be A biusn(a):Sf

wuﬁBLAkﬂuuaéI L
‘ g ; A Bhist 34 (b)
={(2.0).(2.6).(2.c).(4.a).(4.0).(4.c)} U

(4.5).(4.c)} R, ={(2.a)},R, ={(2.0).(2.0)] <
u}u’:Ac_BJ:gluUfJ:( )
J-B L}lu(}t’leg(c)
BxB={(2,2),(2,4),(4.2).(4.4)} U
R, ={(2.2).(2.4)} iRy ={(2.4).(4.2)} . R, ={(22)} R, =0
S UB L}ludl‘f/lg

(Range) sJs! (Domain) 1,3k <
(LR, DomRuE et 26 2 (Domain):aleR?-uZBq;A&:g@/&L’qu/ S
Uz LRyl S b= Range S(Range)s§Roc sk (i &t L sz s 2

La.:{KJ//rL:’L/»
R={(1,4),(2,4),(3.5).(3.6)} » B={4,5,6,7} . A={1,2,3,4} J| : J&

Range R ={4,5,6} s/ DomR ={1,2,3} ?ng,g/&lﬁ'vgufB;;A




&Lufuﬁu"N RJzudL«.fl Nulx ye N/ :Jc’
-J/r)l"‘(f{(Range) uul/!,alw/;!u‘“”du"yg?!ul/Ri R= {(x y)|x+y= 5}
R={(14),(2,3),(32),(41)} £ F QL W

Dom R _{1,2,3,4}ut¢
Range R ={1,2,3,4} !

;Zc;.dﬂ!b{lKJL’?&:".}/;J‘@-c‘;t)dﬁ/gfurl/d'.gj?c./rgd;uuﬁ G
/J&ﬁdl.;{,‘al"ﬁ(/(}w/l = Tl'TZU}’“ ”JU/A,’/K@/I;/ULLJV‘
£

J (Range) 25 151(Co-domain) 71 3k .{ ; (domain) 7/ /Q>La: J J’ t] (1) 17.3
St
u(/.{! §(Range) /3 #1513 d(/ 8(do ; Jr ‘Li:gzgl'fvgi(Function) S

<JEd
Z:ug/!)JcC(Range) 42, d(/g(d m

4,6)} o L e bromiL L
§{(1,5),(2.6).(2.7).(3.9)) Se
4"_:4;,/»71/'

(F n from set A to set B )J@JB&{LA.L{ <
L1 0E SBLr e Aly Ruluterdl FuBaIAy S F )
A =(domain) /1 3b6R (i)
b ; R s(ab) € R St e sk s LB 21 AR (i)

-uj?_/'//;w;u/;})a, B, }//)ia/:,};f.g.hﬁ&;}J]&L‘g/ﬂd‘/“/{i

L2 S0 2F Lidbi(ab) € f i f:A — B urzluy i B A JE L)
b=t (a) Uy




R={(12.23)64) ©
DomR, # A fﬁﬁ/‘édftf@‘&
e VWt e oS i b e

Ry ={(1,2),(2,3),(2,4),(3.4).(4,
LB ‘Lad'//v{l §(Domain) 51 3 £« 7 f

B4).(45)} (D)
’[‘LJ‘@R:g

At S Be S e

A 3esb+(Domain) /136 <

Y IAf:A - B 4+J€VQ¢B¢AJ/7
_‘Lt'l,b;( e /»(Co-domain)

‘L.L{K{?"V"d/f,(Range) £k

st /Yl e e SE LR B A S e

I .
A 13 < g
(Range) 1.s/(co domain) Il 3k ¢sbi(domain) i Sk
e Lot S8l lrif
>Range R = {xz}, Co-domain f=b= {x,yz} f .Domf =A ={a,b,c}
f(c)= z 2l f(a) =x skl

_c‘,t‘n.‘,ﬂf §(Co — domain) 71 3b¢slJ = {(Range) u'd/ 6 0%
_g.ujuub‘)ldg-é"_t'ﬁyJ@/: (i)

Demonstrate the following J"/yu:de,?/ﬂ 17.3 (ii)

(Range) /4
jl’U}VKJlB/)lc“_t'M&fU{{,( j

:(Into and one-one function (Injective function)) (J@;%U')J@U}*UU!‘;U‘ <
:(Onto function (Surjective function) (J‘@;Q/)J‘@ju” <
:(One-one and onto function (Bijective function) (J‘@}%épd‘@}’,/mw,—u, <




:(Into function) J‘La'}jul <

‘at“uﬂ)‘téiu! f:A>B 6,2 LBusiacrdy

(Range f B)LL&.{’C‘?*«Q!:KB‘(Range) SSEN
Lfgl;ug f:A>B JUL B={abcjslA={xy,z}: Ji

fx.'/‘agf@jul f={(x.a),(y.a).(z.b)} <tb
Range f ={a,b} ugg+g1u3u:ffw Rang

:(One-one function) J‘
Lat’MJlﬁu:—u: f:A—>B ‘gcﬁ
—e U p i
Uy £:A>B Sl LB=]
B 1 6A L« FEusus £={(1,2)!

J6 52 oL FEusmuinidy <
p u‘fu;—uwic‘-iumd‘@u{l
3,450 A={1,2,3}., 0 L e
LS E Uy f:A B
< SEAL2UIL £={(1,2),(2.3),(3.4))
S Ui £
W Q) oSG e
P Laz_/fl)ugg:AaB S
) 2Gii) B o1 S Qe e F 651 g =((1,3),(2,5).(3.4))
:(Onto function or surjective function ) J‘@' ",,./.L‘J‘u’}juf <
e tbf F652 A SEIT:A>BIFE 2 L Baiazrds
‘LJ@Jugyu,J/,MLJ@ Range f=B
f:A>BSEB={p,q} s A={ab,c} : J&
£={(a.p)u(b.9).(c:0)} <<t bW T 10y
WS oS le £:A>B £l FEiuT
J@if’.égw‘@iuu’mu;—u:

:(One-one and onto function or bijective function)

-c".b'llfrdil&‘;;g?éll&di@jufmUJ—UJoﬁﬁ;f;ufjpﬂﬁ;U)—UJXL)‘@

A




e Thus £ ASB FE B={1,9,25WA={1,3,5) 0 L e
fwuwu, e e SR £2{(11),(3,9),(5.25))
WUt
e P ST S SaeGiD17 3 S

:(Examine whether a given relation is a function or not)

-u( n(, w}’/(domaln)/lﬂcﬁy/u“ A\ LLJ‘WL};U’B;L !iéz_/ ol

e Sl S/ ,Lég_g@u:rl/ Jlj_f;:/ P ABeAbs

(i (il [|]

JRIA1]

? (domain) /ula.ff Lu"/ J‘w R, :f

u/fuufu*d‘ww Lﬂ/;’uﬂ%‘u; U5(1V)17 3

een one-one correspondence and one-one function)
/Kwéiu" B A3k u,f‘u:dla/}) B /;IAU’/U’/
Lb‘/u‘/rc’d S - U)L.AI)JVLJ/V(IJ/"éJ;/»J

-§.d/ﬁw/Jw e os—¢s(1) «){’.{,/)ELJV
@ e 3 Gy F e F e i)

A B A B




17.5 & "
= St iy 1

(x=510)=(1Ly-7) ()
(5x+8,5y—4)=(3x+10,2y+2) (i)

(2x=3y,5x+y)=(3,16) (iii) \

U S ILPXP sIQXP, PxQiLt 15 £ Qe (S N0LPey i 2

LS r#3C={1,3,5) wB={2,3} A={1,2} [ 3. >
(i) AxB (i) BxC (i) Ax(BUC)
(iv) Bx(AuC) v) (AnB)x(BNC)
S I B={1,2,3} MA={5,6} f| 4.
Wiss e JABXA (i) Wik JAAXB (i)
iUgEA (i) WiGLUAB (i)

Q/r)l’”;!ﬁd/}:glu"gu:AXB;O(B)=4/)lO(A) = 3/'11‘4£B151A¢{» 5.
B={2,4,6,8 » A={0,1,2,3} L_,»JJ S PG ES S5 5.-AXB 6.

beB siacA SlenUly
(i) R,={(ab)|b<5)} (i)  R,={(a.b)|a+b=9)}
(iii) Ry ={(a,b)|a-b=1)|
}’.g.uﬁZ,R={(x,y)|y=2x+5}},g//l 7.

-{-2-1,0,1.2} #(domain)/1 36/ ¢+ (Range) .; ()
- {1L13,1517} J#(Range) .. 1y /7 ¢#*(domain) 1 3k (ii)
u/ (}1” (Range) 3. (domain) 21 o> § s s f 5.5 0u0 gt E S 6o KA wasx.y Jis.
(i) {(x,y)|3x+yfll} i)  {(x.y)lx—y=6}
U E U S0z £={(1,5),(2,6),(3,7),(48)) oSG F: A BST 0.
f(d)#1£(2) ./, ¢#*(Range) »(co-domain) 1.3k sl L 19B=N.sA ={1,2,3,4}
UGB A i a7 B={2,4,6,8,101A={0,1,2,3,4] 1) 10.
U raluit S

{

O R={(02).(1.4)(26).3.8)



(i) R, ={(0,10), 2,6).(2.4),(3.4).(4.2)}
(i) Ry ={(0,2), 14)(26 (3.8).(4.8)}
(1v) R, ={(0,2).(1.2),(2.2).(3.2).(4.8)}
Rs={(0.2),(1,4).(2.6).(3.8),(4.10)}
-au’wdfc_u"uiubaudlb‘U) uﬂawlﬂu:—u;b’fuﬂf;p/y 11. |
O @ i A\

u:/r,l.v; R={p,q,r,s} 1 Q={x,y,2} P={a,b,c} [ 12.
< e Sapd P FE GiiD) qIpf S ()
<2l 2PIe QKSIFG (V) PIURgfE (i)

Review Exercise 17 ./ /_Ew¥_izer 1.

-9&58; ENUS ()

(a) Z ® Q (0 E (d P
«~ Jf"j.wJ A={x|xe Z/\x2=25} (ii)
(a) {15} ®  {-55}
(©) {1,5,25} @ {5
4y O(A)=O(B) /fl‘gé BalA ey (i)
(1) AcB (b) B=A
() A~B @ AcB
< {x|xe N/\x<1} (iv)
(a) 2 (¥ (b) 465
(© exrdl @ 3j
AAB= 7 B={2,4,6} sA={1,234) [I ()

(a) {1,2} () {6}
© {L.3} @ {13




@ 3de O Ja eSS
© 3} @ v
{x|xe Pvxe Q}=
(@) PnQ (b) PUQ
(¢) P-Q (d  PAQ
{x|xeUAxg ANB}=
(a) ANB (b) (AUB)
(©) (AN B) @ ANB
BIA § AnB=@sAUB=U_zL ZBsAsrdb #0f
@ ® erfls ¥
(©)er il @ 4 ,
(&) ) =
(a) (A) (b) A
(c) A (d B
AUB= JADB ﬁ
(@) A b B
(c) @ (d U ;
, -‘Lt'/'/— %J//!ffuﬁruﬁd’jdﬁ
@ S b) o
(c)Ur% @ Ve
x+y= (x,6)=(2,y—6)/1
(a) 8 ®) 10 © 12 @ 14
0(A)= 70(B)=5 410(AxB)=100_/]
(@) 10 ®) 15 @ 20 @ 25
Ages-(Rang) 4/ 1‘41:11{ e ~Jo
(@ 2 b <
(©) = d) et
(Co- domain) f1 3 s+ —(Range) ./ :gM Jufe
(@ 2 b <
(c) = @ S

(vi)

(vii)

(viii)

(ix)

x)

(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)



- £ A B S g DUt ik B={3.4) 51 A={0,1,2}]1
(@) {(0,3), (1,4)} ®  {(0.,3),(1,4), (2.3), 2,4)}
© {03, (14,24} @ HS ,
(a) S Il 0 Sy e
© JGiu (d) il s
AU NSRS
(@) f(5)=6 b  f(7)=8
() f(-2)=6 @  f(9)=0
@ ) . (b) JoI b
© = S K @ A3
UL 500rd U={123,4,5,6) s B={2,4,6} A={1,2,5} /]
@AUB  (b)ANB  (c) AAB
dA-B () A (f) B’

JIBSL LS i $3 Lot £2 4
S/ IiPSelor? (651l L B={a.d. e} A={abd}er
IS e atind bspine £ Q={1,3,7) 4 P={1,3,5} ex

(a) PUQ ®) PNQ  (¢) PAQ (dP-Q

u:/r,la»} B={b,d} .l A={a,c}ﬁ
(@) LA (b) LB
(©) bt JAAXB (d) s AUB

2y FOUBa K 7 B={6.8) s A={1,2,5} /]
S © s @

€ F7 JF_ o\




(o)
BB AL LES 6 e B 71 2l S1i1 <
me’ VI U
KA LV/JG}’B }’KBLJJA Si<
A=BJBcAsAcB/ <
(ﬂé/uﬂlb/u;—U)Ju;l > <
AcBJA£BAIACBf| <
M U o AL ,m&.ﬁf u/f”u‘u/‘c”w Ji <D
e sL12BAAIAANB=3 J| <
-d."'b"‘.’:‘).:i‘“ﬁ)gBulA;AuB =U/| <
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